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Unit 2 Quiz 2 Review

U2LT4 - | can construct a model to represent and or investigate by finding max/mins and intervals of inc/dec/

1. a, You have some fencing (60 feet) to build the shape below. How can you maximize the area?
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b. What was the domain you looked at? Why?
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2, You ha;e 90 yards of material to build walls. You are going to build a shed next to your house. What should

the Pimension f room be to maximize the area? -
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U2LTS5 - | can find a function’s inverse and verify if given functions are inverses or not.
Find the inverse of the following. State the domain and range of both.
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‘ g are inverses algebraically. Show all work.
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U2LT6 - | can find the average rate of change of a functin between two given values.
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8. Find the average rate of change of the function from x=1to x 14 f(*f)_X 3{’&% Syl Tl DO
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9. A ball is thrown in the air, The function h(t) = —= (t — 2)? + 5 models it's height off the ground after
seconds. find the average rate of change of the ball’s henght from time 2 to 4 seconds.
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U2LT7- I can graph/ write rational graphs. TG A, S D
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10. Graph and identify: f(x) = X2-4x-12  (y- )X ¥DD HHHH l
e RS _ .
Hor. Asym:_ Y = | _ I
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rite the equation of a graph with a hole at x=4, vertical asymptotse at x=-

1 and x= 3,anda horlzontal asymptote at
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